SGJ DAV SEN. SEC. PUBLIC SCHOOL, HARIPURA
Class — 9th (Assignment)
Date — 01.09.2025

Instructions:
Dear Students,
We are sending you Homework. You have to solve this work in your notebook in a neat and

clean way. You have to submit this work after the opening of school to your Subject Teacher.
Subject-English
1. Why does Mrs. Al Smith comment on the French people? What is her aim in doing so? Give two remarks

that she makes about them. %)
2. Do you think that the treatment meted out to Juliette by Gaston was appropriate? Why? ®))
3. How does Juliette describe the Villa before Gaston and Jeanne like a good saleswoman? ®))
4. Gaston was indeed a clever businessman. Explain. ®))
5. Why is Mrs. Al Smith in a hurry? (5)
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Subject: Mathematics
1.If a= 8cm ,b=15cm and c=17cm, find the semi-perimeter and write the expression for the area using Heron’s
formula. (2 marks)

Solution: a= 8cm ,b=15c¢m and c=17cm
S_a+b+c __ 8+15+17

2 2
Area expressionz\/ s(s—a)(s—b)(s—rc)
=/20(20 — 8)(20 — 15)(20 — 17)
=V20 X 12 X 5 X 3
2. Ifa= 6 cm, b=15cm and c=17cm find the semi-perimeter and write the expression for the area using

=20 cm

Heron’s formula. (2 marks)
3. In on one-day international cricket match, Raina and Dhoni together scored 198 runs. Express the
statement as a linear equation in two variables and also write two solutions of the equation. (3 marks)

Solution : Let runs scored by Raina be x and runs scored by Dhoni be y.
According to statement of the question, we have

x+y=198
orx+y—-198=0
X 0 198
y 198 0
4. Total cost of a laptop and a mobile phone is Rs 60000. Write a linear equation in two variables to
represent this statement and also write two solutions of the equation. (3 marks)

5. In the Figure, lines XY and MN intersect at O. I[f ZPOY =90°and a:b=2:3, find a, b & c.. (5 marks)

Hint: As we know, the sum of the linear pair is always equal to 180°
So, £POY =a+b=180°

Substituting the value of ZPOY = 90° (as given in the question) we get,
at+b=90°

Now, it is given thata : b=2: 3 so,




Let a be 2x and b be 3x.

= 2x +3x =90°

Solving this we get

5x =90°

So, x = 18°

~a=2x18°=36°

Similarly, b can be calculated and the value will be

b=3 x 18°=54°

From the diagram, b + ¢ also forms a straight angle so,

b+c=180°

=>c + 54°=180°

~c=126°

6. It is given that 2XYZ = 64° and XY is produced to point P. Draw a figure from the given information. If
ray YQ bisects £ZYP, find £XYQ and reflex 2QYP. (5 marks)
Subject -Science

1. Give two differences between bone and cartilage. (2 marks)
2. Give the functions of cartilage. (2 marks)
3. Why does epidermal tissue have no intercellular space? (2 marks)
4. Why is blood called connective tissue? (2 marks)
5. State the difference between simple tissues of plants. (3 marks)
6. Explain the structure, function and location of nervous tissue. (3 marks)
7. Describe role of epidermis in plants. (3 marks)

Subject -Social Science

1.“The rise of the middle class played a very important role in the rise of the French Revolution”. Analyse
the statement. (5 marks)
2.Describe the circumstances which were responsible for the Russian Revolution. (5 marks)
3.Name the three parallel ranges of the Himalayas, and state one typical characteristic of each. (5 marks)
4.“India has a long coastline which is advantageous.” Explain. (5 marks)




